CraTnueckn onpeae/jJamnMasd pamMa

Haiitu peakiuu omop.

3amaga M21.1.

Apzunos Haruun

q¢1 = 9xH/m, g2 = 12xH/m, P = 39xH.

3amaua M21.2. Babuvesa Mapus

q1 = 3xkH/m, ¢o = 30xkH/m, P = 9xH.

3amaua M21.3. Baayzun Cemén

g1 = 9xH/m, g2 = 39xH/m, P = 33xH.

3amaua M21.4.
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Becnaavro Anexcardp

q1 = 5kH/m, qo = 15xH/m, P = 27xH.

3amaua M21.5. Bbondapenxo Huxonati
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g1 = 6kH /™M, ¢o = 24xH/m, P = 12xH.

3amaua M21.6.

Bopuos Bopuc

q1 = 3kH /M, ¢o = 12xH/m, P = 18xH.

3amaua M21.7. Byavieurn Jmumpud

q1 = 18xH/m, qo = 15xH /M, P = 24xH.

3amaua M21.8. Boponosa Exameputa
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q1 = 25kH/m, ¢o = 12kH/m, P = 18xH.




3amaga M21.9. Tandees Huxonati
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g1 = 9xH/m, ¢o = 21kH/m, P = 15xH.

3amaua M21.10. Topbynos Cepeeti
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q1 = 3kH /M, ¢o = TxkH/m, P = 36xH.

3amaga M21.11. I'pubos Badum
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q1 = 3kH /M, ¢o = 36xkH /M, P = 6xH.

3amaua M21.12. Zaswvidos Kupuan

q1 = 6kH /M, ¢o = 12xH/Mm, P = 18xH.

3amaua M21.13. Hpyanos Anmon
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q1 = 25kH /M, g2 = 12kH /M, P = 6xH.

3agaua M21.14.
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FEaoposa Eaena
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q1 = 12xH /M, g2 = 21xH /M, P = 6xH.

3amaga M21.15. FEaynos Eeop
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q1 = 5kH /M, ¢2 = 12kH /M, P = 6xH.

3amaya M21.16. 3auenun Mapx
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q1 = 6kH /M, ¢o = 7TxkH/m, P = 33xH.




3amaua M21.17. Hcaes Jlonu

¢1 = 3kH /M, ¢ = 27xH/m, P = 18xH.

3agaya M21.18. Kupeenxo Baadumup

q1 1,
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q1 = 3kH /M, ¢o = 12xH/m, P = 6xH.

3agaya M21.19. Kupuanos Eseenuti
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q1 = 6xkH /M, g2 = 30kH /M, P = 3xH.

3agaua M21.20. Kuceaes Muzxaun
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q1 = 5xH/m, ¢o = 39xH/m, P = 12xH.

3amaua M21.21. Kobsesa Kcenusa

g1 = 19xH /M, g2 = 9xH /M, P = 9xH.

3agaua M21.22.
P

Konodun Anexcandp
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q1 = 6kH /M, g = 36xkH /M, P = 39xH.

3amaua M21.23. Kopuazun Usan
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g1 = 6kH /™M, g2 = 15kH /M, P = 6xH.

3amaua M21.24.
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Kyuybepus Jlawa

q1 = 9xH /M, g3 = 6xkH /M, P = 3xH.

M21
TBETHI.
TaTNYeCKHA oIipeaejJimmMad paMa
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M21 daitn

21mdx-AnsA

Ne Xa Xp Ya Ys

1] -20.029] -99.971 12.971] -99.971
2| -31.625 34.625| -202.643| -16.357
3/-153.000{  48.000| -369.000| 24.000
4| 411.000| -458.000| 77.000|-224.000
5| -12.429 54.429| -54.000 6.000
6| -3.000 27.000{  21.000{ -9.000
7| 23.583| -47.583| 124.500{ 82.500
8|-572.000{ 808.000| 654.000|-606.000
9| 711.429| -732.429| 36.214|-357.214
10(1161.500{-1170.500{-1234.500{1170.500
11| 727.500| -694.500| 253.000{-463.000
12| 24.600 17.400| 123.600 2.400
13| 175.750]  37.250] 75.938| -27.938
14| 445.286| -409.286| -46.408|-247.592
15| 64.929| -64.929| -48.750| -14.250
16/ 103.000{ -82.000| 21.000| -82.000
17| 173.250| -167.250| -153.333| -71.667
18| 69.000{ -69.000| -87.750| 12.750
19/-179.250] 200.250| -335.036| -81.964
20(-158.900{ 133.900| -174.000| -6.000
21] 10.500{ 94.500| 36.000| 63.000
22| -43.773| 34.773| -114.045| -32.955
23| -3.643| -38.357| 36.000| -3.000
24| 306.000| -336.000| -343.500| 322.500




